ENG 243 — Statics
Test No. 1 — Spring 2004

Problems 1 and 2 relate to the picture shown:
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1. Express F| as a Cartesian vector. Determine the coordinate
- direction angles for that vector.
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2. If force P has a magnitude of 640 lbs, determine the Cartesian vector Fj necessaty so that the
ball remains in equilibrium. .
. ' A A e C % I N "7.‘.)
T- 32 o302y TR e SYPII W
1 o .
By Gy ) "\. LY = ‘I e
S &y - 7o -5 4 O7 e & .
Y. S T A «S - BT Ve
£y o .. - . :ﬂ:
- S o 2ok 3 - v A0V ) A 285
‘i, > . L‘.f-\_\_\ ((f\ ¢ A Qoo 20 \ xS :
=T
-5 oy By e -E:"-“"‘h ’ .13
- .= = . ~h,
;’ F. ¢ \_." « by 7 ¢ 3 "\ : . ﬁ\
“ ol . (1"{'7 2y Jeey ¥ g;g_ﬁ}: )
- o . f ‘_‘?t \‘__:2 l|‘2,(-_" t L\ 3 = 1 o i .
- k‘(_] (f-‘l .—\ lz) Z {'\ \' ( 2 L N 3
o=
Vot .

| n N YO A
T"‘% - gj\_g\_g)*z S (WA b & — Qe 2 s



3 In the figure shown, there are two possible magnitudes for P
7 such that the magnitude of the resultant of all three forces is
. 800 Ibs. Determine one of them.

Z F% = = "%—(kxsc*\ - oo tes 3 40
= TP - Gl

4001b

i't‘*’é . T e C - s

S )

.4
i — /

i r—
<._3 ~q4quvd ) @0::‘-

S5 GoD % ?2 *18‘%’2.3? + 84S L2

T o
@. . e 2 GO g P - e

Z B L AN 14985

Bl igleat v ls 1T



